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] Calculer une longueur avec le théoréme de Thales \ * %

| v ] |

Calculer la longueur demandée.

1) | ovw)y//wx) 2)| (J0)//(KL)
4 UV =4cm L MI = 4,9 cm
X VX = 4,8 cm . K ML =7 em
W U
v WV =6 cm M J LK =8 cm
Uy = 7 IJ=7
3)| ws)//(VR) 4) | (rRT)//(SV)
T TU = 4,9 cm R UR =5 cm
5 s
R U SU = 3,5 cm A UV =28,1cm
% RV =5 cm T V4 U UT =9 cm
TV = 7 Us =7
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1) (YW)//(UX) 2) (JI)//(KL)
4 UV =4cm L MI = 4,9 cm
X VX = 4,8 cm : K ML =7cm
W U
v WV =6 cm M J LK =8 cm
3) (US)//(VR) 4) (RT)//(SV)
T TU =4,9 cm R UR =5cm
S S
vV RV =5 cm T \4 U UT =9 cm
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